

# Inequalities of Hadamard's Type for Lipschitzian Mappings and their Applications

This is the Published version of the following publication

Dragomir, Sever S, Cho, Yeol Je and Kim, Seong Sik (1999) Inequalities of Hadamard's Type for Lipschitzian Mappings and their Applications. RGMIA research report collection, 2 (6).

The publisher's official version can be found at

Note that access to this version may require subscription.

Downloaded from VU Research Repository https://vuir.vu.edu.au/17249/

# INEQUALITIES OF HADAMARD'S TYPE FOR LIPSCHITZIAN MAPPINGS AND THEIR APPLICATIONS

S. S. Dragomir, Y. J. Cho and S. S. Kim

ABSTRACT. In this paper, we give some inequalities of Hadamard's type for *M*-Lipschitzian functions. Some applications which are connected with arithmetic mean, geometric mean, harmonic mean, logarithmical mean, identric mean, etc., for two positive numbers are also given.

### I. Introduction

The inequality

$$(1.1) f\left(\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_a^b f(x)dx \le \frac{f(a)+f(b)}{2},$$

where  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  is a convex function defined on the interval I of  $\mathbb{R}$ , the set of real numbers, and  $a, b \in I$  with a < b, is well known as Hadamard's inequality.

For some recent results which generalize, improve and extend this classic inequality, see the papers ([1]-[16]) where further references are given. Here we will list only some results we need for our further considerations.

If  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  is a function, then we can define

$$H: [0,1] \to \mathbb{R}, \ H(t) = \frac{1}{b-a} \int_a^b f(tx + (1-t)\frac{a+b}{2}) dx$$

and

$$F: [0,1] \to \mathbb{R}, \ F(t) = \frac{1}{(b-a)^2} \int_a^b \int_a^b f(tx + (1-t)y) dx dy,$$

1991 AMS Subject Classification: 26D15, 26D20, 26D99.

Key Words and Phrases: Hadamard's inequality, M-Lipschitzian mapping, the mappings F and H.

respectively ([4], [5], [8]).

For these mappings and if f is convex on [a, b], then we have the following main properties ([5], [8]):

- (1) H and F are convex on [0, 1].
- (2) H is monotonically nondecreasing on [0,1] and F is monotonically nonincreasing on  $[0,\frac{1}{2}]$  and nondecreasing on  $[\frac{1}{2},1]$ .
- (3) We have the bounds:

$$\inf_{t \in [0,1]} H(t) = H(0) = f(\frac{a+b}{2}),$$

$$\sup_{t \in [0,1]} H(t) = H(1) = \frac{1}{b-a} \int_a^b f(x) dx,$$

$$\inf_{t \in [0,1]} F(t) = F(\frac{1}{2}) = \frac{1}{(b-a)^2} \int_a^b \int_a^b f(\frac{x+y}{2}) dx dy,$$

$$\sup_{t \in [0,1]} F(t) = F(0) = F(1) = \frac{1}{b-a} \int_a^b f(x) dx.$$

(4) We have the inequality

$$F(t) \ge \max\{H(t), H(1-t)\}$$

for all  $t \in [0, 1]$ .

and

## II. Hadamard's Type Inequality

We will start with the following theorem containing two inequalities of Hadamard's type.

**Theorem 2.1.** Let  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  be an M-Lipschitzian mapping on I and  $a, b \in I$  with a < b. Then we have the inequalities:

$$\left| f(\frac{a+b}{2}) - \frac{1}{b-a} \int_a^b f(x) dx \right| \le \frac{M}{4} (b-a),$$

and

(2.2) 
$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_{a}^{b} f(x) dx \right| \leq \frac{M}{3} (b-a).$$

*Proof.* Let  $t \in [0,1]$ . Then we have, for all  $a, b \in I$ 

$$|tf(a) + (1-t)f(b) - f(ta + (1-t)b)|$$

$$= |t(f(a) - f(ta + (1-t)b) + (1-t)(f(b) - f(ta + (1-t)b))|$$

$$\leq t|f(a) - f(ta + (1-t)b)| + (1-t)|f(b) - f(ta + (1-t)b)|$$

$$\leq tM|a - (ta + (1-t)b)| + (1-t)M|b - (ta + (1-t)b)|$$

$$= 2t(1-t)M|b-a|.$$

If we choose  $t = \frac{1}{2}$ , we have also

(2.4) 
$$\left| \frac{f(a) + f(b)}{2} - f(\frac{a+b}{2}) \right| \le \frac{M}{2} |b-a|.$$

If we put ta + (1-t)b instead of a and (1-t)a + tb instead of b in (2.4), respectively, then we have

$$\left| \frac{f(ta + (1-t)b) + f((1-t)a + tb)}{2} - f(\frac{a+b}{2}) \right| \le \frac{M|2t-1|}{2} |b-a|$$

for all  $t \in [0,1]$ . If we integrate the inequality (2.5) on [0,1], we have

$$\left| \frac{1}{2} \left[ \int_0^1 f(ta + (1-t)b)dt + \int_0^1 f((1-t)a + tb)dt \right] - f(\frac{a+b}{2}) \right|$$

$$\leq \frac{M|b-a|}{2} \int_0^1 |2t - 1|dt.$$

Thus, from

$$\int_0^1 f(ta + (1-t)b)dt = \int_0^1 f((1-t)a + tb)dt$$
$$= \frac{1}{b-a} \int_0^b f(x)dx$$

and

$$\int_0^1 |2t - 1| dt = \frac{1}{2},$$

we obtain the inequality (2.1).

Note that, by the inequality (2.3), we have

$$|tf(a) + (1-t)f(b) - f(ta + (1-t)b)| \le 2t(1-t)M(b-a)$$

for all  $t \in [0, 1]$  and  $a, b \in I$  with a < b. Integrating on [0, 1], we have

$$\left| f(a) \int_0^1 t dt + f(b) \int_0^1 (1-t) dt - \int_0^1 f(ta + (1-t)b) dt \right|$$

$$\leq 2M(b-a) \int_0^1 t (1-t) dt.$$

Hence, from

$$\int_0^1 t dt = \int_0^1 (1-t) dt = \frac{1}{2}, \ \int_0^1 t (1-t) dt = \frac{1}{6},$$

we have

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \le \frac{M}{3} (b-a)$$

and so we have the inequality (2.2). This completes the proof.

The following corollary is important in applications:

**Corollary 2.2.** Let  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  be a differentiable convex mapping on I,  $a, b \in I$  with a < b and  $M := \sup_{t \in [a,b]} |f'(t)| < \infty$ . Then we have the following complements of Hadamard's inequalities:

(2.6) 
$$0 \le \frac{1}{b-a} \int_{a}^{b} f(x) dx - f(\frac{a+b}{2}) \le \frac{M}{4} (b-a)$$

and

(2.7) 
$$0 \le \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \le \frac{M}{3} (b-a).$$

*Proof.* The proof is obvious by Lagrange's theorem, i.e., we recall that for any  $x, y \in (a, b)$  there exists a c between them so that

$$|f(x) - f(y)| = |x - y| |f'(c)| \le M |x - y|,$$

and Theorem 2.1. We shall omit the details.

The following corollaries for elementary inequalities holds:

**Corollary 2.3.** (1) Let  $p \ge 1$  and  $a, b \in \mathbb{R}$  with  $0 \le a < b$ . Then we have the inequalities:

$$0 \le \frac{b^{p+1} - a^{p+1}}{(p+1)(b-a)} - \left(\frac{a+b}{2}\right)^p \le \frac{pb^{p-1}}{4}(b-a)$$

and

$$0 \le \frac{a^p + b^p}{2} - \frac{b^{p+1} - a^{p+1}}{(p+1)(b-a)} \le \frac{pb^{p-1}}{3}(b-a).$$

(2) Let  $a, b \in \mathbb{R}$  with 0 < a < b. Then we have the inequalities:

$$0 \le \frac{\ln b - \ln a}{b - a} - \frac{2}{a + b} \le \frac{1}{4a^2}(b - a)$$

and

$$0 \le \frac{a+b}{2ab} - \frac{\ln b - \ln a}{b-a} \le \frac{1}{3a^2}(b-a).$$

(3) Let  $a, b \in \mathbb{R}$  with a < b. Then we have the inequalities

$$0 \le \frac{\exp(b) - \exp(a)}{b - a} - \exp\left(\frac{a + b}{2}\right) \le \frac{\exp(b)}{4}(b - a)$$

and

$$0 \le \frac{\exp(a) + \exp(b)}{2} - \frac{\exp(b) - \exp(a)}{b - a} \le \frac{\exp(b)}{3}(b - a).$$

(4) Let  $a, b \in \mathbb{R}$  with 0 < a < b. Then we have the inequalities

$$1 \le e\left(\frac{a^a}{b^b}\right)^{\frac{1}{b-a}} \frac{a+b}{2} \le \exp\left(\frac{1}{4a}(b-a)\right)$$

and

$$1 \le \frac{\left(\frac{b^b}{a^a}\right)^{\frac{1}{b-a}}}{e\sqrt{ab}} \le \exp\left(\frac{1}{3a}(b-a)\right).$$

*Proof.* (1) The proof follows by Corollary 2.2 applied for the convex mapping  $f(x) = x^p$  on [a, b].

- (2) The proof follows by Corollary 2.2 applied for the convex mapping  $f(x) = \frac{1}{x}$  on [a, b].
- (3) The proof is obvious by Corollary 2.2 applied for the convex mapping  $f(x) = \exp(x)$  on  $\mathbb{R}$ .
- (4) The proof follows by Corollary 2.2 applied for the convex mapping  $f(x) = -\ln x$  on [a, b]. This completes the proof.

Now, we shall point out some other inequalities of the types in Corollary 2.3, but these hold for the mappings which are not convex on [a, b].

**Corollary 2.4.** (1) Let  $a, b \in \mathbb{R}$  with a < b and  $k \in \mathbb{N}$ . Then we have the inequalities:

$$\left| \left( \frac{a+b}{2} \right)^{2k+1} - \frac{b^{2k+2} - a^{2k+2}}{(2k+2)(b-a)} \right| \le \frac{(2k+1) \max\{a^{2k}, b^{2k}\}}{4} (b-a)$$

and

$$\left| \frac{a^{2k+1} + b^{2k+1}}{2} - \frac{b^{2k+2} - a^{2k+2}}{(2k+2)(b-a)} \right| \le \frac{(2k+1) \max\{a^{2k}, b^{2k}\}}{3} (b-a).$$

(2) Let  $a, b \in \mathbb{R}$  with a < b. Then we have the inequalities:

$$\left|\cos\left(\frac{a+b}{2}\right) - \frac{\sin b - \sin a}{b-a}\right| \le \frac{b-a}{4}$$

and

$$\left| \frac{\cos a + \cos b}{2} - \frac{\sin b - \sin a}{b - a} \right| \le \frac{b - a}{3}.$$

*Proof.* (1) The proof follows by Theorem 2.1 applied for the mapping  $f(x) = x^{2k+1}$  on [a, b].

(2) The proof is obvious by Theorem 2.1 applied for the mapping  $f(x) = \cos x$  on [a, b]. This completes the proof.

# III. The Mapping H

For an M-Lipschitzian function  $f:I\subseteq\mathbb{R}\to\mathbb{R}$ , we can define a mapping  $H:[0,1]\to\mathbb{R}$  by

$$H(t) = \frac{1}{b-a} \int_{a}^{b} f(tx + (1-t)\frac{a+b}{2}) dx$$

for all  $t \in [0, 1]$  and we shall give some properties of the mapping H:

**Theorem 3.1.** Let a mapping  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  be M-Lipschitzian on I and  $a, b \in I$  with a < b. Then

- (1) The mapping H is  $\frac{M}{4}(b-a)$ -Lipschitzian on [0,1].
- (2) We have the inequalities:

(3.1) 
$$|H(t) - \frac{1}{b-a} \int_a^b f(x) dx| \le \frac{M(1-t)}{4} (b-a),$$

$$\left| f\left(\frac{a+b}{2}\right) - H(t) \right| \le \frac{Mt}{4}(b-a),$$

and

(3.3) 
$$\left| H(t) - t \frac{1}{b-a} \int_{a}^{b} f(x) dx - (1-t) f\left(\frac{a+b}{2}\right) \right| \le \frac{t(1-t)M}{2} (b-a)$$

for all  $t \in [0, 1]$ .

*Proof.* (1) Let  $t_1, t_2 \in [0, 1]$ . Then we have

$$|H(t_2) - H(t_1)| = \frac{1}{b-a} \left| \int_a^b f(t_2 + (1-t_2)\frac{a+b}{2}) dx - \int_a^b f(t_1x + (1-t_1)\frac{a+b}{2}) dx \right|$$

$$\leq \frac{1}{b-a} \int_a^b \left| f(t_2x + (1-t_2)\frac{a+b}{2}) - f(t_1x + (1-t_1)\frac{a+b}{2}) \right| dx$$

$$\leq \frac{M}{b-a} \int_a^b \left| t_2x + (1-t_2)\frac{a+b}{2} - t_1x - (1-t_1)\frac{a+b}{2} \right| dx$$

$$= \frac{M|t_2 - t_1|}{b-a} \int_a^b \left| x - \frac{a+b}{2} \right| dx$$

$$= \frac{M(b-a)}{4} |t_2 - t_1|,$$

i.e., for all  $t_1, t_2 \in [0, 1]$ ,

$$(3.4) |H(t_2) - H(t_1)| \le \frac{M(b-a)}{4} |t_2 - t_1|,$$

which yields that the mapping H is  $\frac{M(b-a)}{4}$ -Lipschitzian on [0,1]. (2) The inequalities (3.1) and (3.2) follow from (3.4) by choosing  $t_1=0$ ,  $t_2=t$ and  $t_1 = 1$ ,  $t_2 = t$ , respectively.

Inequality (3.3) follows by adding t times (3.1) and (1-t) times (3.2). This completes the proof.

Another result which is connected in a sense with the inequality (2.2) is also given in the following:

**Theorem 3.2.** With the above assumptions, we have the inequality:

(3.5) 
$$\left| \frac{f(tb + (1-t)\frac{a+b}{2}) + f(ta + (1-t)\frac{a+b}{2})}{2} - H(t) \right| \le \frac{Mt}{3}(b-a)$$

for all  $t \in [0,1]$ .

*Proof.* If we denote  $u = tb + (1-t)\frac{a+b}{2}$  and  $v = ta + (1-t)\frac{a+b}{2}$ , then we have

$$H(t) = \frac{1}{u - v} \int_{u}^{u} f(z) dz.$$

Now, using the inequality (2.2) applied for u and v, we have

$$\left| \frac{f(u) + f(v)}{2} - \frac{1}{u - v} \int_{v}^{u} f(z) dz \right| \leq \frac{M}{3} (u - v),$$

from which we have the inequality (3.5). This completes the proof.

Theorems 3.1 and 3.2 imply the following theorem which is important in applications for convex functions:

**Theorem 3.3.** Let  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  be a differentiable convex mapping on I,  $a, b \in I$  with a < b and  $M = \sup_{x \in [a,b]} |f'(x)| < \infty$ . Then we have the inequalities:

(3,6) 
$$0 \le \frac{1}{b-a} \int_a^b f(x)dx - H(t) \le \frac{M(1-t)}{4} (b-a),$$

(3.7) 
$$0 \le H(t) - f(\frac{a+b}{2}) \le \frac{Mt}{4}(b-a),$$

(3.8) 
$$0 \le \frac{f\left(tb + (1-t)\frac{a+b}{2}\right) + f\left(ta + (1-t)\frac{a+b}{2}\right)}{2} - H(t) \le \frac{Mt}{3}(b-a)$$

for all  $t \in [0,1]$ .

# IV. The Mapping F

For an M-Lipschitzian function  $f:I\subseteq\mathbb{R}\to\mathbb{R}$  we can define a mapping  $F:[0,1]\to\mathbb{R}$  by

$$F(t) = \frac{1}{(b-a)^2} \int_a^b \int_a^b f(tx + (1-t)y) dx dy$$

and give some properties of the mapping F as follows:

**Theorem 4.1.** Let a mapping  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  be M-Lipschitzian on I and  $a, b \in I$  with a < b. Then

- (1) The mapping F is symmetrical, i.e., F(t) = F(1-t) for all  $t \in [0,1]$ .
- (2) The mapping F is  $\frac{M(b-a)}{3}$ -Lipschitzian on [0,1].
- (3) We have the inequalities.

$$(4.1) \left| F(t) - \frac{1}{(b-a)^2} \int_a^b \int_a^b f(\frac{x+y}{2}) dx dy \right| \le \frac{M|2t-1|}{6} (b-a),$$

$$\left| F(t) - \frac{1}{b-a} \int_a^b f(x) dx \right| \le \frac{Mt}{3} (b-a),$$

and

(4.3) 
$$|F(t) - H(t)| \le \frac{M(1-t)}{4}(b-a)$$

for all  $t \in [0, 1]$ .

*Proof.* (1) It is obvious by the definition of the mapping F.

(2) Let  $t_1, t_2 \in [0, 1]$ . Then we have

$$|F(t_{2}) - F(t_{1})|$$

$$= \frac{1}{(b-a)^{2}} \left| \int_{a}^{b} \int_{a}^{b} [f(t_{2}x + (1-t_{2})y) - f(t_{1}x + (1-t_{1})y)] dx dy \right|$$

$$\leq \frac{1}{(b-a)^{2}} \int_{a}^{b} \int_{a}^{b} |f(t_{2}x + (1-t_{2})y) - f(t_{1}x + (1-t_{1})y) dx dy$$

$$\leq \frac{M|t_{2} - t_{1}|}{(b-a)^{2}} \int_{a}^{b} \int_{a}^{b} |x - y| dx dy.$$

Now, note that

(4.5) 
$$\int_{a}^{b} \int_{a}^{b} |x - y| \, dx dy = \frac{(b - a)^{3}}{3}.$$

Therefore, from (4.4) and (4.5), it follows that

(4.6) 
$$|F(t_2) - F(t_1)| \le \frac{M|t_2 - t_1|}{3}(b - a)$$

for all  $t_1, t_2 \in [0, 1]$  and so the mapping F is  $\frac{M(b-a)}{3}$ -Lipschitzian on [0, 1].

(3) The inequalities (4.1) and (4.2) follow from (4.6) if we choose  $t_1 = \frac{1}{2}$ ,  $t_2 = t$  and  $t_1 = 0$ ,  $t_2 = t$ , respectively.

Now, we prove the inequality (4.3). Since f is M-Lipschitzian, we can write

$$\left| f(tx + (1-t)y) - f(tx + (1-t)\frac{a+b}{2}) \right| \\
\leq M \left| tx + (1-t)y - tx - (1-t)\frac{a+b}{2} \right| \\
= (1-t)M \left| y - \frac{a+b}{2} \right|$$

for all  $t \in [0,1]$  and  $x,y \in [a,b]$ . Integrating the inequality (4.7) on  $[a,b] \times [a,b]$ , we have

$$\left| \frac{1}{(b-a)^2} \int_a^b \int_a^b f(tx + (1-t)y) \, dx \, dy - \frac{1}{b-a} \int_a^b f(tx + (1-t)\frac{a+b}{2}) \, dx \right|$$

$$\leq (1-t)M \frac{1}{b-a} \int_a^b \left| y - \frac{a+b}{2} \right| \, dy$$

$$= \frac{M(1-t)(b-a)}{4}$$

for all  $t \in [0,1]$  and so the inequality (4.3) is proved. This completes the proof.

Theorem 4.1 implies the following converses of the known results holding for convex functions (see the results listed in section I).

**Corollary 4.2.** Let  $f: I \subseteq \mathbb{R} \to \mathbb{R}$  be a differentiable convex mapping and  $M := \sup_{x \in [a,b]} |f'(x)|$  for  $a,b \in I$  with a < b. Then we have the inequalities:

$$0 \le F(t) - \frac{1}{(b-a)^2} \int_a^b \int_a^b f(\frac{x+y}{2}) \, dx dy \le \frac{M|2t-1|}{6} (b-a),$$
$$0 \le \frac{1}{b-a} \int_a^b f(x) \, dx - F(t) \le \frac{Mt}{2} (b-a),$$

and

$$0 \le F(t) - H(t) \le \frac{M(1-t)}{4}(b-a)$$

for all  $t \in [0, 1]$ .

## References

- 1. S. S. Dragomir, Two refinements of Hadamard's inequalities, Coll. of Sci. Pap. of the Fac. of Sci., Kragujevac(Yugoslavia) 11 (1990), 23–26.
- 2. S. S. Dragomir, J. E. Pečarić and J. Sándor, A note on the Jensen-Hadamard's inequality, Anal. Num. Theor. Approx., 19 (1990), 21–28.
- 3. S. S. Dragomir, Some refinements of Hadamard's inequality, Gaz. Mat. Metod. (Romania) 11 (1990), 189–191.
- 4. S. S. Dragomir, A mapping in connection with Hadamard's inequalities, An. Öster. Akad. Wiss. Math.—Natur. (Wien) 123 (1991), 17–20.
- 5. S. S. Dragomir, Two mappings in connection to Hadamard's inequalities, J. Math. Anal. Appl. 167 (1992), 49–56.
- 6. S. S. Dragomir and N. M. Ionescu, Some integral inequalities for differentiable convex functions, Coll. of Sci. Pap. of the Fac. of Sci. Kragujevac. (Yugoslavia) 13 (1992), 11–16.
- 7. S. S. Dragomir, Some integral inequalities for differentiable convex functions, Contributions, Macedonian Acad. of Sci. and Arts 16 (1992), 77–80.
- 8. S. S. Dragomir, On Hadamard's inequalities for convex functions, Mat. Balkanica **6(4)** (1992), 215–222.
- 9. S. S. Dragomir, A refinement of Hadamard's inequality for isotonic linear functionals, Tamkang J. of Math. (Taiwan) 24 (1993), 101–106.
- S. S. Dragomir, A note on Hadamard's inequalities, Mathematica (Romania) 35(1) (1993), 21–24.
- 11. S. S. Dragomir, D. M. Milosévić and J. Sándor, On some refinements of Hadamard's inequalities and applications, Univ. Beograd, Publ. Elek. Fak., Ser. Math. 4 (1993), 21–24.
- 12. S. S. Dragomir, D. Barbu and C. Buse, A probabilistic argument for the convergence of some sequences associated to Hadamard's inequality, Studia Univ. "Babes-Bolyai" Math. 38(1) (1993), 29–33.
- 13. S. S. Dragomir and Gh. Toader, Some inequalities for m-convex functions, Studia Univ. "Babes-Bolyia" Math. **38(1)** (1993), 21–28.
- 14. S. S. Dragomir, Some remarks on Hadamard's inequalities for convex functions, Extracta Math. 9(2) (1994), 88–94.
- 15. J. E. Pecărić and S. S. Dragomir, On some integral inequalities for convex functions, Bull. Inst. Pol. Iasi. (Romania) **36** (1990), 19–23.
- 16. J. E. Pecărić and S. S. Dragomir, A generalization of Hadamard's inequality for isotonic linear functionals, Radovi Mat. (Sarajevo) 7 (1991), 299–303.

## S. S. Dragomir

School of Communications and Informatics

Victoria University of Technology

PO Box 14428

Melbourne City MC

Victoria 8001, Australia.

email: sever.dragomir@vu.edu.au

URL: http://melba.vu.edu.au/rgmia/dragomirweb.html

Y. J. Cho Department of Mathematics Gyeongsang National University Chinju 660-701, KOREA

S. S. Kim Department of Mathematics Dongeui University Pusan 614-714, KOREA